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PART A

Answer allqueslons. Each queslion caries lwo marks.

1 Defire lhe lerm quanlilier. Explain dfierenl lypes ol quanlile.s.

2 W lh lhe help oj example, explain aboul sel-

3. Whal arc mulualy exclusive and exhalslive eve.1s ?

4 Whal are random varabes ?

5. Delin€ the lerm Grammar.

6. Which are the properlies oi reg! arlanguages ?

7. Whal you mean by lhe lem "Parsing ?

8. Expain aboul PDA.
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PART . B

Answer allquestions. Each queston caffies ajqht marks.

11. a) lna grolpoll00people,65likecrickel,40likelennisand55likevo eybal.
Alloilhem lke one ol lhe three games.li25 ke both crickel and tennis,24

-like both lenn s and volleyballand 22 ike bolh crickel and volley balllhen
1) How many like lo play alllhe three games ?
2) Fow many like lo play crickei ony ?

3) Fow many like lo playiennis only ?

b) 1) Construci ihe irulh lable ior (P , a) 
^ 

(O r P).
2) Prove (P J o)e -, (-P w o).
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12. a) ll P(A) = 0-5, P(B) = 0.6, P(A 
^ 

B) = 0.2. Find P(A u B), P(A'), P(A 
^ 

B'),
P(A' 

^ 
B').

OR

b) A bag contains 8 balls, ol which 5 are red and 3 are while. A man drawn
h4o balls al rardom one a11er another wilhoul replacemenl. Whal is lhe
probabilty one oi lhe balls drawn is while and ih€ other red ? Whal would
be the valle oiihese probabilil es il a balldrawn is replaced belore anolher
ball s drawn ? 8

a,

b)sh.*,h"11h"o;s,-s\f; 4'i>F;;.i,-,)i,"0,'",o,""0,""".'*
resular. %,\r";4=Si:v-_'d;3

la. d) w dr a p conr"s re@amplalF f:ora,n c rsky -ormarrorm

oFr \.d'-
or con u r a ooa r""r d-c$5ifrQ.#i*il, q"**r"d ov a sr.rna, w'h

p,"a*'-" ! - usoo u.H Si; 
- ist $r i:

all the d ngs o!' 10, r ), excepl lhose conlaininq the

1 5. a) Explain in derail the.p-gsuutlespplFe.nc-e-pjoblCln and the Tuins machine

13 a) Fnd a dlalhal accepts

b) Explain1)

2)

8

(5x8=40)


